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BA YGRS R hae, WCRETE BRI TE 0. 2s FRIET[A] P A48 0k A % [ 26 v 1) S 58, i DR 4
TEN G 24

FLA BRI O S AE, AT L B DR e DR 0 2 o v 34 iR
LR B, FaiHsiThiae

G R R PR R, TR ERAE N RS A DRAE R I A R
BAXREZRE MG, WG 50 Hz. 60 Hz

A E SRS RORAEAEI BN, 8T F T A AR i n] 5 RS232 2 M I il ik
45 3 B EXCEL RM AT BRI Se it 74

HAVRERIIRE, JuCP AT 2w, MAsids, Mline A zh S8t — D ks R
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& EEFESS

SEE
BE
RABHINE
RABUERR
TIREEFTEE
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EE[E EFHRTIE
MiztAE)
FRJE TRERTiE)
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RABHINE
RARUERR
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SURFE
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FBE TPEAT(A)
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SERTHREERT(A)
HimEE
IR FART
SEHE
BE
PR
BALRIREE
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BN\TRRIREE

il
FE

i
FE

il
BE

Bl #EEX Sl SAAMIE

CS9919BS

| CS9929BS

0.050kV ~ 5.000kV

+ (2%I1EE+5V)

v

100VA ( 5.000kV/20mA )

20mA

0 ~ 20mA,0=FFH FIR

200uA. 2mA. 20mA

IE5%R

<2% ( ZEREREpE R )

13~15

DDS+IOiY

0.35~999.9s 0=F8/F FFHhT[EX

0.3s ~999.9s 0=3ZELEMiz

0.35~999.9s 0=FB/F T FERT[EIX

0.0s ~999.9s 0=|E)fRRT AR

4

N, GERIH

0.050kV ~ 6.000kV

+ (2%I1EE+5V)

1v

60W ( 6.000kV/10mA )

10mA

2UA

. 20uA, 200uA. 2mA. 10mA

<5% ( 6kV/10mA )

<200ms

10mA

0.35~999.9s 0=/ EFHAT[EX

0.3s ~999.9s 0=1Z£z izt

0.35~999.9s 0=F8/F FF&ATIEIX

0.0s ~999.9s 0=|E)fRRT AR

0.35~999.9s 0=FERHRERIER

4

N, Gl

0.050kV ~ 1.000kV

+ (2%iEE+5V)

1v

10GQ

9.999GQ

1MQ




&\, E5 [Fiss Bl #EEX Sl SAAMIE

BEELFRE 0.3s ~999.9s 0=FB/F L FAdiax
UUIGHDIN =~ - 0.35~999.9s 0=1ZELE Mz
ERRRTIE] 0.0s ~ 999.9s O=[EfRAtEX
g TRENF. X
EERTE] <200ms
LG 4
0.050kV ~ 5.000kV
SBE
0.050kV ~ 6.000kV

BE + (2%IEE+5V)
DR i\
BREE BEHRE

=S 0 ~ 20mA

SBE 0 ~ 10mA

P 200uA &Y : 0.1uA,2mA £ : TuA,20mA £ : 10uA

e 2uA %Y : 0.001uA, 20uA £ : 0.01uA, 200uA 1 : 0.1uA, 2mA 4 1uA, 10mA £ :

i 10uA
WERSE >2mA 9+ (2%+54F) , <2mA At (3%+540F)
{mF2INRE MR B B4 AORIER iRt AT LA ZS .
Tt GND #&={, : RETURN imfzEHl5% FLOAT #&%{, : RETURN i

TENF

N=TE 1MQ ~9999MQ

P 1IMQ~9.999MQ : 0.001MQ , 10MQ ~99.99MQ : 0.01MQ,
100MQ ~999.9MQ : 0.1MQ , 1000MQ ~9999MQ : IMQ
0.100kV ~ 0.200kV:1MQ ~ 999MQ +5% , 1000MQ ~ 3000MQ +10%
BE 0.201kV ~ 0.499kV:1MQ ~ 999MQ +5% , 1000MQ ~ 5000MQ +10%
0.500kV ~ 1.000kV:1MQ ~ 999MQ +5% , 1000MQ ~9999MQ +10%

SEE 0~999.9s
DR 0.1s

TEE + (0.1%+50ms)




